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1 log tan1® + log2® + logs® + + 10838° + log 89° is oqual to
@1 o (© 2 () None of these

A lesp year contains ....odd days
@1 ) 2 © 0 (d) Nono of thsy

3 In tho adjoining, ABCD is a parallologram. Find the value of x and y.

s7¢

A B
(@) 20 20° () 13, 20° (©) 15, 15° ™ 25% 15°

+ 21 is equal to,

) 31z (0 321 (@ 231




[image: image2.jpg]5. Convert (47 In the rational form
£] @ 8
@ o ®) 5 @ g
6. Whatis the total surface area of a right circular cone. the. radius of whose base is 21 cm and height
is 28em.
(a) 1396 cm* b) 3696 cm? (c) 3966 cm® (d) 6468 cm®
2
7. Sita sponds 663% of her salary and can save Rs 300, What is her total salary?
() Rs 900 {b) Rs 800 () Rs 1100 (d) 1000
5. Find the valuo of (243" =y
@) 49 (b) 25 © 9 (d) 16
et 1.1
o Halel =45 and ab = 18. Find .‘;
(@ V3 b) 213 0 V2 (d) can't be determined
10. ‘The LCM of two. number is 2079 and their HCF is 27, 1f one of the numbers is 189. Find the other
number.
(@) 297 (b) 279 (e) 792 @ 279
11, 11 the prico of o pencil is decreased by uiw snd docrease is Rs. 3, find tho now price of the
poneil
(a) Rs18 (b) Rs 15 (€) Rs24 (d) Rs16
12. An umbrella was purchased at Rs. 80/ and sold for Rs. 68/ The rate of discount is :
@ % ) 15% @ i @ 20%
13, In which guadrant point (-5, =7) lies.
() 15t quadrant (1) 2nd quadrant (@ 3rd quadrant (@) 40 quadrant
5. A& B together can do a pioce of “work in 6 days & A alone can do itin 8 days. In how many days

can B alone do it?
(0) 16 days (1) 15 days (¢) 12 days (@ 18 days




[image: image3.jpg]Lines AB & CD intersoct at 0. If ZCOE =90° . Find the value of , b and ¢

() 30,40,15 (b) 30, 60, 12 (e) 30,40, 12 (d) None of these
10. P(A) = 0.25, P(B) = 0.5, AN B )= 0.14 then P(AUB ) = ?

() 061 (b) 062 (©) 016 {d) None of these
17, Find the missing number 4, 196, 16, 144, 36, 100, 64, s

(@) 36 (b) 100 () 80 (@ o4
18. Find out the word which is of a different class,

() BSF. (b) 1AS (c) RPE () IAF.
19. KWZ MOX, OV, QET, ?

(@) SAQ (b) SUR (e) RAP. () SCR
20. Which figure of the following vonn disgram reprosonts, Anti-Social Eloments, Pick Pocket,

7
9.
7. 18 k) 19.(d)  20.(b)

Blackmailors.

(@) (b) ‘ (e) @Id) @

® oz (b 3@ 4 d) 5 6 d 7 @ 8 (9
(©) 10. (a) b)) 12.() 13 (g 4. ) 15 () 16. (a)





